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Question for examination: 7 queries, with a combined value of 100 points. ( Bl A A L7858 &
3t 100 47)

1. What is CRISPR/Cas9 system? How does it cause mutations? (15 points)

2. Imagine having a mutant mouse with a short tail. How would you go about cloning the gene associated
with this phenotype? (15 points)

3. What is the role of lipoproteins in blood lipid metabolism? Provide a classification of lipoproteins and
explain how they function in delivering lipids. (15 points)

4. Explain how the structure of the inner mitochondrial membrane is crucial for the generation of ATP.
Provide details on the major enzymes and complexes involved in oxidative phosphorylation. (15 points)

5. Define the Warburg effect and its association with cancer metabolism. (15 points)
6. Explain the initiation steps involved in the translation of eukaryotic mRNA. (15 points)

7. You are investigating Protein X in human cells and are interested in identifying any proteins that interact
with it. Outline two experiments to discover the proteins that interact with Protein X. (10 points)
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